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#include <stdio.h>

rdisplay bits of an unsigned integer value */
void displayBits( int value )
{

unsigned int c¢; /* counter */



#declare displayMask and left shift 31 bits */
unsigned int displayMask = 1 << 31 ;

printf( "%10d = ", value );

#loop through bits */
for (¢ =1; ¢ <= 32; c++ ) {
putchar ( value & displayMask 2 '1l' : '0' );
value <<= 1; /* shift value left by 1 */

if (¢ % 8=0){ /* output a space after 8 bits */
putchar( " ' );
} /* end 1if */

} /* end for */

putchar ( '"\n' );
}

unsigned int cal (int value)
{
unsigned int bitmask =1, k, 1 ;
for (i =0, k=0 ; 1 < 32 ; i++, bitmask <<= 1)
k += value & bitmask 2 1 : 0 ;

return k ;

}
int main ()
{

int num ;

printf ("Enter an integer\n");
scanf ("%d", &num) ;

displayBits (num) ;
printf ("Result: %d\n", cal (num)) ;

return 0 ;
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